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\ lGenér'al lntellli'gence & Reas

A Brother | 5TTS
C. pataisinadequate / 32T

In an examination Suman got mar
Suman. Who got the least marks?

A. QRSTUV/QRSTUV
C. RSTUVW/RSTUVW

If ROBUST is coded as QNAT
| 31T ROBUST &1 QNATRS

& vl 9reg ZXCMP & T A ifSd T

s

B. AYDNQ/AYDNQ / -
D. YWBLO/YWBLO

: na is half the age of Prabhu. If Mani is sixly, find out the age of Ramona.
&I & | T 30 o o5 37 Qe & e A A 3 eo, T

B. 10/10
D. 15/15

FAinYthe missing number in the series 5915233345 _7__ <
) e Rw AT AR Ryt & & 4Tl A oo BT A iU e 15233345 7

A. 59/59 B. 57157 -
C. 61/61 D. 55/55



Numerical Aptitude

The length and breadth of a rectangle are in the ratio 3 < 1. If the breadth i 7 cm, then the length of the rectangle is
| U 3Ty arS AR 5 AT AR B R A A L, A IIT R FES R

A. 18em/1scm ! B. 16cm/16¢em
C. 4em/14cm ¢ D. 21cm/21em
1}

Calbulate the correct answer 126315-87924 =7 X 67/ Hﬁf IcaAT I AUTAT
A. 684 /684 B. 661 /661

C. 573 / 573 D- NOne 0' these/ ,*A‘.‘

: Calculatetheoonectanswer(-st-35-37)+18+17:?/8? Ty
AL -138/-138
C. -103/-103

. The areas of two similar triangles are 81 9. ¢m 3

2 e Pt 3 e o 0 3
A. 97197
C. 8149/81:49

. The number of boys in a clag bet of girls. Which one of the following\pymbk
total numberofchildren " A

SRR ‘! : 0 :
k: ey dea & i AR
YT e it ed Tl 73 A ‘\
B. 42/ \

In a class there are 20 boy and 15 gifs. The ratio of
| U T 20 5 3R 15 ST HATR | ot

A. 43/43 b ks !

S C. 4:5/4'5 } A s 4\ J .

. Caloulate the correct answer /31 %016 +\0.092 = A/ HR] Scci¥ Y ITUTAT T 8.31 + 0.6+ 0.002 =7 ‘
A. 8.919/8.919 3/ 8.912/8.912 ' [
C. 8.921/8.921 D. 8.997/8.997 ‘

< 5 Ll \d " ‘ 1 + 4812

728 =7 X 87/ TEY 3cc{ T T0TAT I 10531 + 4813 - 728= 2 X867

A No B. 186/186 "
C. 168 D. 172172

Find the lo' ltiple of 24, 36 and 40

I 24,36 3R 0 ¥ T TG HH WA AUl AT P R
A. 240/2%0 B. 360/360 '

C. 120/120 D. 480/480



General English

. Synonym of Depressing is e
A. Melancholy /- ! B. Hamony /-
C. Rejoicing /- i D. Jubilant /-

. Synonym of Shipingis_\.' . /-

. A. Dreary/- B. Murky /-

C. Dusky/- D. Bright /-

. Murder of mother ? /-
A. Polyglot /-
C. Malricide /-

A p'efs'on who comes {o one country from another in org /

A. Wardrobe /- igrg
C. Emigrant/- Isge

. Heis not dependent his parents fof mang
A. with/- ‘
C. of/-

- . How many Tense are/fihex\?\/
A. 61~ B. 3/-
C. 4/ A
Circus : Entertainment ?1-
A Worklﬂg/ i}
C. Worship /-
Love is oflen madness. /- L
A. compared for/- § aled 10/ -
C. comparedon/- .| Somperedin /-
o A ined agaj 3 complanedto/- it
: ined ' D. complained of /-
. Thepgpa B. Dematologist/-

D. Volunleer/- ..

yids to make logical sentences= for, are, the, searshing, they, robbers /-
e ae/searching the robbers for. /- B. They sarching for the robbers are. /-
aft for Ihe robbers searching. /- D. They are searching for the robbers. /-



General Awareness

. The treaty of Srirangapaina was signed between Tipu Suitan and whom?
/&g et AR o e ARETTeT 1 i X g e e

A Robert Clive /ITaE FeTsa B. Hastings / 28w
C. comwaliis / Firaliard D. pakousie / ZerglST
- Finance commission is established by 2 / faea 3mateT i ¥ 9= fha=t 14

A- Einance Ministry / freet FTer B.  Prime Ministy

C. President / 37ETET D.  parfiament /&
! 'Wimliéh was the 1st non Test playing country to beat India in an i
| YeRSA P & ST ) g1 el e
A. Zimbabwe / SitaTed -
C. East Africa | 9 315RehT

= India won its first Olympic hockey gold in...} /§
A. 1936/1936
C. 192871928

. Which amendment of constf

| fatITe & i UTH
A. 91/91
C. sg/88

- Hari Prashad Chaurasiys

A- Sitar Player / T

C. Guitar Player / RTeR aTesh

- Under Akbar, Mir Bakshi looked after? /
A. landrevenue/ﬁﬁf Tsed

B. Fungus /e
D. virus / arRa

B. Nongofthese /SAR A RSAS |\
D. SandySoiI/i?ﬂ?ﬁﬁé’r' ‘

amau crickter / it T U haeT Agl &
A. Rahul Dravid /TG 193 B.  pankajtAdvani / GaeT JTSaroft
C. Ms Dhoni /TH TH &Y D. Gutam Gambhir / 3ra# 713X



